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EDUCATION
( General )

Paper : 5.2
Full Marks : 80
Time : 3 hours

The figures in the margin indicate full marks
for the questions

Answer either in English or in Assamese

1. Answer the following/Fill in the blanks/Write
True or False : 1x10=10

oo R et /@ 92 oRa w/eE @
e e

(a) “Measurement is the assignment of
numerals to objects or events according
to rules.” Who gave this definition?

Y@ o e RffRe faw splR
M A7 F41 FREE <ot o1 @ =m0
% KECH] (I SNTGRNRA 2 '
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(2)

(b) “Educational achievement tests are
designed to measure knowledge,
understanding and the skills in specific
subject or group of subjects.” Who gave
this definition?

“arA ¢ Rom Rw 9 «3fie Rege
fredi &, @ IF el ARNEE AW 4T
91 SR o1 Awel WS I PRI
7 1”7 G SGAND! (R A9 FIR=EA 2

(c) Write any one characteristic of
evaluation.

e R e <ot Caféie e

(d) Find out the mean from the following
scores :

oo ARPTYR <1 T Tferad
20, 30, 35, 40, 25, 30, 20
(e) Physical measurement is objective.
, ( True or False )
s AR 3@ | '
(w7 @8 )
(7 Range is one of the measures of central
tendency. -
( True or False )
$PTR 2 (T 2ARTOR GfY (Y |
(o= @ T )
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(3)

(g) Reliability is always situation specific.
( True or False )
frsacatrer s ~AR{ES Aeer |
(B% @ 9T )

(h) The first step in constructing a test is
to the test.

( Fill in the blank )
SO Ao TN R (FR WeIwR
il

(1 3T *[TFT)

(i) Physical measurement is more accurate
than measurement.

( Fill in the blank )
S ofRaet ____ Reerete sl R |
: (=00 31 771 41 )

() Achievement tests are broadly classified
as standardized and test. *

( Fill in the blank )
RSl SEIFPHEE el AfTATS W
o e cdien I |

(04 o1 °[@T )
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(4)

2. Answer the following briefly : 2x5=10
oo AT 5y Ted fa
(@) Write any two characteristics  of
measurement.
sifroR & e qo1 cafes foram

(b) Write two differences between
measurement and evaluation.

o1l S JERAE NS B N 7= |

(c Mention two disadvantages of objective-
type test.

TS TR o1 So{fd SCEY 40|

(d) What is error in measurement?

sffamrem & F 2

(e) Write the formula to calculate median
from grouped data.

- SgfEe AT o1 1 AT 05T o o

3. Answer any four of the following : 5x4=20
wero [AIARS @ BiR6R Teg i

(a) Write briefly five functions of
educational measurement.

Qe e D1 o o e |

(b) Write briefly on validity of a test.
BT ASIHA (I HoF B o1 |
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(c)

(@)

(e}

(b)

20A/134

Write a note on essay-type teacher-
made test. :

Freg-fAffes w1 SR A b1 GR
o

Discuss about formative and summative
evaluation. '

TG W€ ANET e e e
sal

Write briefly on cumulative record card.

AT wfece oq e v s

Write the advantages of measures of
central tendency.

FEY 237l ﬂﬁmﬁﬁﬁmﬁﬁu

What is evaluation? Discuss the basic
principles of evaluation. 4+6=10

FRA 0 FER @R MR e
kaill

Or / 9241

What are the different steps of test
construction? Write five differences
between general test and standardized
test. 5+5=10
worm R fifen sz & R siwaa
O TE AfSTAIge SHorER e 331 #Amh!
N7 o3 |
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(6)

5. (@) What is objective-type test? Discuss the
uses of educational achievement test in
educational evaluation. 5+5=10

e worw 7 FEee R (R
rfiee oo WorMPR Sl Sl
*¥q
Or / 91

(b) What is new trend in evaluation?
Discuss about grading system. 10
TRe Apq 4|l 62 e rafs s
DA 41 |

6. (a) What is frequency polygon? Draw a
polygon from the following table : 2+8=10

IR TEGT 6 7 DI SR o ITF
90T A 9 ¢
cr f
(19} =) IR IS ))
55-59 1
50-54 1
4549 3
4044 4
35-39 6
30-34 7
2529 12
2024 6
15-19 8
10-14 2
N =50
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(7))

Or / 9«1

(b) Find out the mean by short method
from the following table : 10

T WIETFIA a1 5Y Aafecd oTe Sfere

CI f
(Ecic)) (FR5R)
90-94
85-89
80-84
75-79
70-74
65-69
60-64
55-59
50-54
4549
4044

i
HONwaoD

N W dH PO

N =66
7. (a) What is median? Find out the median
from the following data : 3+7=10
T4 3 7 o) YR <1 ql T 90

cr if
(18 wF3reT) (IRF@N)
55-59
50-54
4549
4044
35-39
30-34
2529
20-24
15-19
10-14

NN AW

=z
1]

50
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( 8)

Or / 931

(b) Calculate the standard deviation from
the following table : 10

oo O <1 e Rpyfe Sfete

o f
(15t =) (FrsTrver)
90-94
85-89
80-84
75-79
70-74
65-69
60-64
55-59
50-54
4549
4044

o ® N o w ~

= N N A O

* & &
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